AN ANALYSIS OF SOME VERBS OF MOTION IN ENGLISH
JOHK BEA‘I_:I‘Y

Brookiyn C;dlegé, The City. Uﬂiwsﬂy of New York
I Iﬁroductiou '

Harry Hm]er, in dea(,nl:ung Navajo verbs of motion, _adopted a systent .
*whlch has puzzled many people éver since. Hig gloss of the Navajo word -
~ /ninds:h/ for example; is ‘he-moves to 4 stttmg position’ {(Hoijer 1964:142).. . .
" While this may be, in fact, a very adequate translasion, one can:not help. .
‘but wonder why Hm]er did not see fit to translate the form as ‘he sits down’. .

A possible explanation for Hoijer’s decision to use somewhat deseriptive
glosses is that he is attempting to abstract (or feels that he has abstracted)
some component or components of meaning from the Navajo forins. Hoijer may
have felt that it was better to give some of the component features of the
haﬂm]n verb rather than an English equivalent, since mmpmmnt features
of Enghsh verbs of motion have never been extrapolated and described.

Kinship terminology, which was one of the first systems of terms to be
subjected to this type of analysis, will give an analogy which shows the dangers
of using a gloss over giving a list of components. If a set of kinship teyrms is
examined in a non-English -speaking society, it will become obvious rapidly,
“that the ways in which various peoples group their relatives is in no way fixed
by some extra cultural feature. Various cultures will specify different terms
for people wha are biologically 1den1‘1mll}f related. In restricted Chinese (I use
the term ‘‘vestricted’ here as it is used in linguistic problems where certain
features are deleted which are not relevent to the problem at hand, but whose
presence would only serve to mmphmte matters unneeessarily for the }mmtrf
which is being made), for example, all male members of the same generation
refer to each other as /ga/ ( g} or (hin/(F), ,’dmdmf(%ﬁ} or (saylo/gR T&,depend-
ing on the age of the person referred to relative to the speaker. The  first pair
may be transiated roughly ag senior {or elder} brother or cousin, while the
second pair may roughliy be translated as either junior {or younger) brother
or cousin. The forms jdaidai/ and [hny’ d1ﬂ‘e1 from jsaylaf and /go/ in thﬂ’ﬁ-
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the former forms are formal forms and the latter are informal forms,

They also differ in the way that they enter intdmorplm]ngioal cnmhijmtinn?
“These. distinctions are irvelevant to the example since for a given ‘g0’ fao/
and /hny! will have the same person as referent,

It becomes obvious that these two sets of terms (T will use G-H and 8- D,
in the future to refer to elder and young nwpwtlwh') do not mayp isomorphi-
cally onto the Knglish forms brother and cousin (see chart I, pages 128-129),
The components of the two Chinese forms may be stated to be:

G-H: male, same generation, older than Ego '

8-D: male, same generation, younger than Ego

" In English, the components of brother and consin ave quite different,
a1l may be deseribed as:

Brother: male, same generation, lincal

Cousin:  child of a collateral, who is sibling to a lineal.

It is apparent. then, from the above discussion, that only in one case can
G-H or 8-1) be translated as “brother’. In all other cases, ‘cousin’ is the proper
term. It is therefore advantageous to give a list of components of the term,
rather than a gloss which is only occasionally appmpr:ate

For this reason, Hoijer may have been wary of giving glosses, and his use
of giving components is easily justitiable. There seems to he no reason, however,
~to give components when a sceond language “has a form which is equal
in translation by virtue of the fact that the terms in hoth languages have
identical components. Hoijer could not, then, have attempted to give transla-
tions (i.e. mateh Navajo words to English words baving identical components)
without first having a componential analysis of English verbs of motion, The
major purpose of this paper is to start such an analvsis so that more rigorous
comparative work can be done. The verbs analyzed here are not meant to be
an exhaustive list, but merely a few which scem to show eertain tendencies

aid trends in English,
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G-H: go or hin -
S-Ix: seylo or daidai

II. Pmbfems

Several pmblems some sema.ntm some t.axnnnmm cnmpima.t-a all ‘egm-
ponential analyses to various degrees. This analysis is no exception, Thr&ﬁ
types of problems occurred: {a) metaphorical ex‘l:.enﬂu}nﬁ, {b) gra.mm&-t:ca.l,
prub]emﬂ and (c¢) problems of ' presentation,

Metapkorical extensions: In gathering data for a componential analysis, -
1% Is necéssarytn collect as many tokens of the forms as possible. Invariably,
forms arise which appesr to be metaphorical extensions of some basic
semantie fqn_n.' On occasion it is useful to examine these mutaphors and the
imagery ereated by them to gain insight into the possible components of the
base forms. The verb to fly will serve as an example. To fly can be analyzed
as ‘an object is buoyed up by and propeled through air’. In the structure’
He flew oul of the room, there appeard to be & metaphoric extension based
on the fact that the flight of objects which d:}‘ not fly naturally, or without -
outside help (i.e. planes as opposed to birds) is associated with speed. The

| ;metdphu_rie extension means that the person in question left the room with
 great speed (i.e. sufficient speed to be capable (metaphorically) of fiying).

The same iz true in the statement He flew through the waler, where the
iden of speed is carried over as the object moves through a different medium.

Grammatical problems: Certain grammatical problems also complicate the
analysis in . that some verbs of motion may be used either intransitively or
transitively, while others can occur only in an intransitive form. For example,
to move can be either transitive or mtra.nsltwe In its intransitive form, it may be . ;
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gnalyzed to mean to undergo motion’ (i.e. 7 move). In its transitive form
(He moves it) it has the meaning “to cause something to undergo motion’.
Transitivizing verbs of motion is, in fact, generally equivalent to a causative
aspect. Not all verbs of motion can undergo this transitivizing, while others
can, but with somewhat different results. Consider I cawsed # fo squirm
which is possible, bub not I squsrmed it. Examples of forms which do ocour
* as transitives, but with different meanings than causation are fo jump and
1o fly. The verb to fly on the other hand, exhibits several problems. The
form I fly a Boeing 707 to Chicago every week can mean that the gpeaker
18 the pilot who causes the plane to fly, or the speaker may be a passenger
on the plane who is flown to Chicago by the plane. The verb o fly is difficult
since it is also invoived in the metaphoric forms noted previously, and some
pentences become ambignous as to whether & metaphoric interpretation is

wanted or not. Ske flew in here may be interpreted, for example, metaphori-

cally as She came in a hurry or realistically as Ske came in a plane (nosice the
~similarity in the structure of the pamphraaed forms).

Problems of ;preaentahan: In most componential analyses, one of two-forms
‘is generally used. A third form is possible. The merits and drawbacks of all
three forms will be discussed before the actual analysis, in hopes of arriving
at the most efficient and economical presentation which accurately reflects
the data.

The first method of presentation will be called herein the “t-a,xunomm
method™. In this method, & chart is used to indicate the relationship. between
the terms under examination. Forms of lower levels are contained within
those at higher levels, but contrast with those at the same level.

In an analysis of dogs, for example, the three terms, dog, collic and
spantel might appear thus:

| dog
colie | spaniel

In addition to the above chart, the criteria for the division of the three
terms need to be given. This format makes certain relationships easily identi-
fisble, but has several drawbacks, One problem arises when a seb of terms
is not complete, i.e. where there are taxonomie gaps. Consider the following:

‘ X
| y | |
In this chart, y is & kind of x, but there are no specific terms for those x's

- which are not y’s (this is the case for example with séts such as duck, drake
- and “female duck™). The missing tertn may either be non-existent, or expreased.
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generslly through a poly-morphemic or poly-lexemic structure, or the cover
term “x” may be nsed, making x a subclass of x.

~ Another problem arises with this type of presentation when a single term
occurs in different p]aceﬂ in the mxﬂnomy . |

A : ) 8 |
b .

-

d e |d]f

In this last charb; “d” is a “b”’, and also a “c”. The criteria used in arriving -
at the “d” which is a “b” must necessarily be different than the “d” which
15 & “o™ (since one contains the component “b*” while the other, the component

¢”’). This type of problem occurs, for example, with the verb fo fly, which.
contains componentsé which refer to object moving through air, while the
second can be used when the motion has an aspect of speed. These two are
illustrated by The bird flew out of the room, and The boy flew out of the reom.

- The first sentence is generally understood to mean (in isolation), that the

bird, flapping its wings, propelled iteelf through the air, and with this manner
of motion departed from the room. The second is understood to mean (also
in igolation) that some boy left the room in a great hurry.

A similar problem arises with certain verbs of motion in English which
ma} be made transitive or intransitive. Since there seems to be no single
class of verbs to which the rule is applm&h]e a preaentatmn of a taxonomic
type is relatively awkward. '

A second type of presentation is one in which the components are symbolized
by letters or a series of pluses and minuses, matched to criteria which are
conceived of in binary oppositions. This is equivalent to the distinctive
feature approach postulated by Jakobson, Fant and Halle (1951:44).

This format is effective when the criteria are applicable to all forms. For
example, the distinctive features of fp/ and /] are:

| . _ | ol A
vocalic/consonantal - _ B
comps.ct/diffuse — —

. gravefacute . -+ +
nasalforal ' — s
tenseflax ' . —
optimal constrictive/optimal stop - -+

The. usefulness of this approach diminishes, however, when the criteria
for separations of classes on lower orders are different in various cases. If this
format is followed, one is foreed into the position of asking irrelevant questions. -



132 J. BEATLY

Assume that one of the criteria for verbs of motion is whether the object in
mation is moving on the land, or if it is buoyed up (movement on sol'idfnnn
solid). If the object in question moves on the land, one needs to decide if
_the movement is done pedally, or non-pedally (pedalty/non-ped.). If the
moyement is pedally, is at least one foot always on the ground, or is thero
o mament when alt feet are clear of the grdund? {one foot cleaviull feet clear).
These Tast two fentures are not applicable if the answer to the first question
wasa minus {ie. the movementison or in a non-solid}. Tn other words, several
of ihe gquestions are dependent on i previgus guestion. Tn a distinctive feature
approach, all pussible components: would have to be listed, but in a large
number of cases, such features would be irrelevent. From the previous discus-
zion, the following distinetive features would have to be included, and the
following results wourld be obtained for walk and swim. ‘

WALK SWIM

-

movement un land/non-land + R
“pedally fnon-pedally 4 - irrelevant
one footfeet ; - - irrelevant

The third type of prosentation is “flow chart” presentation. The term’

“HBow chart” is taken fram commuer programming. Flow charts indicate
the questions ta be asked by the computer and give instructions as to how to
proceed atter the question is answered. The instructions contain the eriteria

fol possible answers. Example:

Assume that a computer has heen programmed to compute income tax. .

At some point. the computer arrives at the following, where x is the amount
deducted from one’s salary and y is the amount of tax due the goverumont.

Do x-v _ :

I x-y is greater than O write check for x-v | :

If x-y is luss than 0, multiply by -1 atid write-bill for -1{x-v}.

I x-y equals 0 pring out “Aecount exactly in balance™.

1 can he seen from 1his exanple that the criteria involved in determining
whether or not a refund is sent is contained in the instructional statements
which give the computer the instructions on how 1o proceed after performing

the operation x-v. A How chart dingram for this step would lonk like the

foilowing:

.{jn (x—v}

B

'ﬂr;i'it{‘ ¢heck for o
{(X—¥)

e

1 (X y).
[x —y)=0

rint, out., Account i Balance™
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If the angfer to the first question {Do you wish to emphasize the sex of
- the animal?) is ‘no’ the duck will be used. If the answer is ‘ves’, then the
question ix it male or female? will be asked. A response of ‘male’ will produce
drake, while @ response of ‘female’ will produee the poly-lexemic form
Jemale duek. |

111. The anclysis of some verbs of molion 1 English

As the title of this paper-indicates, there is no attempt here to analyze
all the verbs of motion in Enghsli. There is no daubt that the sddition of
other verbs may require a reworking of much of the “fiow ¢hart”. Many more

node guestions would need to be ill't-l't‘}(’hi(.‘t.‘d,' and posstbly several would need

to be deleted, or modificd to accommodate the additional duta.
I have chosen to avoid » binary branching chart, in favor of & multibraneh-

ing one, in that I find it.diffeult to justify several nodal Guestions i suceces-

sion which scem rnot te have any psychological reality, andjor are not generating
terms to cover those nedes, The most obvicus exumple of this is the five-branch-
ing nede at which the question asked is: “Is the movement on the growd, in
the ground, in the air, in a liquid or in or on a vehicle!”, Five answers are
possible, and five lines lead from that node. Tt would have been possible 1o
rephrase that particular question so that the branching would have always
been binary, but since the problems incumbent on sueh a systemm have been

present since Plato, il scomas wiser to avoid them, In addition, it secms nn ise:
to agk “Is the object moving in or on & moving object or not?”, and then “Is

it moving in relation +o ground?”, ete. {sec diagram helow), since the categories
foymed frequently seem to lack any sort of reality.

DIAGRAM CONTRASTING MULTIBRA'N[!HIN{}.- AND BINARY BRANCHING
APPRUOACHES

Is the ovement on the ground, in Gl air, liguid or in or on
a moving object?

. in liguid
v grouncd

oy ground

i alr

{Multibranohing Approach) -

i Gr O & tnoving objecth

e
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Is the object moving in or on & noving object?

+ No

Is movement in rolation to the ground?
= - yes

In the grpm}"ar " On“the ground?

T~

E

[I.?im_iry. anﬁhing Ap}}maé_h]

The verbs in ‘the following analysis were chosen tandomly, but with an
eye towards diversity. This_ was done primerily to make as many major
categories as pessible. Sets of closely related forms (such as amble, perambulate,
ete.) were generally ignored, since the distinetions are rather subtle - Only.in a.
few cases were such sets examined, primarily to show how the 'mﬁt:hmln]ngy
would cope with such problenis. There are also a few cases which attempt .
to de_al with metaphoric uwses (see fly for cxample), where there may be .-
restrigtions on the subject as well 2 K

The flow chart itself is quite complex to follow through a “key™. The key
18 a series of questions which are in fact the componients of the forms they
ultimately generate. The questions are numhbered, and the numbers refer
to specific nodes in the chart itself. After each question, all possible answers
are listed, with an instruction as to how to proceed from each answer. The
instmct-inps will be in one of two forms: a “print out” (P.0:) which indicates
the appearance of the morph; or an instruetion o ask another question which
18 also specificd. Hor example: - | '

Q. 7. Iv the motion aimless?
No: 8
Yos: PO, sdrift’

o The above example indicates that if the question “Is the motion aimless?’”
18 answered positively, then the form to be produced is driff. If the answer,
however, is negative, then one needs to ask question # 8 next, ¥

The key on page 136 lists the nodal Guestions, answers and instructions.
After each question there is a short discussion as to the reason for the question

' _It* seemns perhaps mora reatistic to say that cortain verbs furce or project cortain
qualities on their subjects. The verb walk is gonersily thought to roquire an animate

+ subject, but it secms more that the subject of tho vorb fo waelk will be mado snimate,

¥his would mean that in & scntence such ‘as He drank ond drank and drank and rthen |

Jiowed out of here would be interpreted to rmsan that he moved like & liquid or other

roass noun. In this'sense, it is perhaps wrong to say that motion of mass nouns is ‘How’,.
but rather that, one should say, flow will cause the subjoct to be treated as o mnes noua..
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and comments. Following the key is the diagram of the flow chars, with the
nodes numbered with reference to the key questions. .

The last section lists the verbs considered herein, with the components as
derived from the chart. B '

IV.  The key®

Queatiﬂn 4t
1. Does the object in question exhibit motion?
No: Delete :
Yea: 2 : 5

- Phis is the question which determines inclusion in the set of verbs of
motion. The class is defined by this question. Any action conceived of as
having motion isincluded in the set. If the response to this question is negative,
the instruction is “Delete”, this means exclude from the set. In a total analysis

of English, the instruction following » negative response would simply indicate -

that the next question asked was not ‘within this set.

2. Is the object in question & mass nount
No: & "
Yeu: 42

This question separates mass nouns from other nouns. These nouns are
marked for certain inflectional restrictions, and behave quite differently from
other nouns in English. The question indicates that among other- things,
certain verbs in English can only have mass nouns &8 their subjects.® .

* Comments follow queetions in order to justify the question. Where no comment

tollows one of three posaibilities is the case, Either: (1) There is a P, O. {(generation of
& form justifies the question); (2) The question ocourred before with an explanation;

-{3) Only a question of self-causation Hes between the question and a P. O.; or the following

question oocurs: “Do I want to ernphagize some aspeot of the motion?"* after the ques.

tion. The reason being that there must be a term then for that level of organization,
indicating & psychological as well as morphemic reality. »

t Tho questions were dovised by examination of the verbs involved and grouping
&F those verbs into those which seemed related in meaning. Words were often paraphrased
to arrive at the componente, When two or more verba had ths ssme components and no
others, the verbs were substituted in identically the same sentencea and the contrasting
- meaning was analyzed for its component parte. There appears to have been & pertain
problem in that forms Like crawl and snake contrasted for movement om the ground.
Snake oan also decur for movement in water, ete. Thig agpect of anake is not deslt
with hers since it developed only recently (in my mind a3 & posgibility). It would ap pear,
though, that the chart needs to be reworked, at least in the area of ‘Bnake’, ‘Coil’, ‘Spin’,
and ‘Squirm’ so that these forms can be generated without going to Question 49 which
deals. with the media on or in which the movement takes place. This would probably
mean moving node #21 to & spot between nodes 8 and 9. ' :

¥ Jee note 2. '
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3. Do I wish to emphaaize just the fact that it is in motion?
No: b '
" Yen: 4.

This is the first question which hes the idea of emphasis tied to it. It in—
dicates that frequently a speaker’s choice of & lexical item is based on an aspect
that he wishes to emphasize. If, for example, & ball is moving across the floor-
and one is asked, “What is the ball doing?", the response may. either be-
“It's moving”" or “It's rolling”, depending on whether the speaker wishes to
clarify the type of motion, or whether the fact that motfion is involved is.
sufficient. " - ) | '

4, Do I wish to emphasize motion relative to other objeota in motion?

Neo: & | : |
Yes:~20 : : !

This question separates the verbs in English which gan have only plurat’
subjects in their intransitive form. This is because the question indicates that-
many objects are already moving and the relationship between objects indicates:
the plural number. g B o L

5. Do I wish to emphasize the velosity of the movement? - -
No: 7T s g * :
Yee: 45

The appearsnce of | thia; question in this spot indicates that the idea of”
gpéed supersedes most of the categories involved, and in fact can even be used:

for mess nouns {see question’ 3l when answer is yes}.

6. Is it self moving!? - P,
No: P. Q. ‘Move’ (transitive)
Yee: P. 0. ‘Move” {intransitive}

This question reapﬁears soveral times at different places in the chart (and
necessarily in the key). At first there wag some hesitation in including the-

question on the grounds that it produced & distinction which is in fact appar-

ently more syntactic than sementic. However, it became readily appaerent.
thet certain forms were ambiguous only in intransitive forms (see for example-
the components of coil (transitive) as opposed to coil (intransitive))..
Since there appears to be no general rule which states which verbs may be:
made transitive, the question neéded to be repeated several times.

7. Is the motion aimleas? :
No: B ; r
. Yes: P. O."Dnift’ '
&, Do 1 wish to emphasize the emoothness of the motion?
No: 9 ~ .
Yea: P. O, ‘Glide’ : : -
9. Is the object moving () on the ground (b} in the ground (c) in air {(d) in & liquid
fe) in or on & moving object? ' -
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If the answer s Do

a 10 -

b P. 0. “Tunnel’
c 43

d ; 34 .
e . P.O, ‘Ride’

This question indicates that the medium through which or in which the

‘motion taKes place is important. This may indieate the projection of a feature
-onto & locative by the verb.¢ .

10. Is the object moving on limba?
No: 12
- Yes: 13

"This question distinguishes things which move on limbs from those that don’t,
It is possible this question can be eliminated by going
Adirectly. o -

~

11. Ts it using more-limbs than usual! |
" No: 21
Yeoa: P. O, ‘Crawl’
I2. Is it moving on its belly ?
No: 21 -
Yes: 13

" This question may be more aptly asked as “Iy the body horizontal?”’ Since
‘there is no term being printed out here, and the psychological reality seems,
-2t least in my mind, somewhat questionable, it is possible that more intensive

work needs to be done at this node. At the moment, however, I can find no
“way of avoiding this question. .

- 13. 1s the movement undulating? -
No:-40

Yes: P. O. ‘Snake’
14, Are sll the limbs involved clesr of the ground at any time?
" No: 37 ' ' :
Yes: 15 :
25, Are the feet together?
No: 16 |
Yes: P, O. ‘Jumyp’
16, Is there a forward motion using just one foot?
No: 17
Yes: 18 _ ,
17. Ie it always the same foob?
No: P. O. ‘Skip"
Yea: P. O. ‘Hop’ _ .
18. Do you wish to emphasize some aspect of the motion?
No: 20 .
Yes: 19

* Beo note 2.

to question 11 and 12
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This ;jueatinn separates ‘running’ from its aspectual forms irof, gallop,

jog, and seers here to have a psychological reality in that these are all forms

19. Is it paced? N
No: P.O. ‘Bun’ (infrensitive)
Yes: B, 0. ‘Trot’

The peculiarity here in generating rum is caused more by the l&cil;; ]1:1{ :Eh:
forms in the analysis like jog, gallop, etc. It does se:em, hqwa:er, s eaa
are forms of running which would have to be specified poly- t?gen:oua {,9 :m |
in ran up, etc.) which would require a return to the larger classificatory |
rui.

20. Is the motion self-caused?
Noa: P. O, ‘Run’ (trangitive}
Yes: P. O. ‘Run’ (iptranaitive)
21. Ia the motion in place?
No: 26 i
Yos: 22 _ ‘
28. Ia the object forming & spiral?
- No: 24
Yea: 23 _
23. Ias the movement self-caused?
No: P. 0. ‘Coil’ (transitive)
Yes: P. 0. “Coil’ (intransitive)
24. Is it moving about an axis?
No: P. 0. ‘SBguirm’
Yes: 25 :
25. Is the movement self-caused!?
No: P. 0. ‘Spin’ (transitive) }
: P, O. ‘Spin’ {intransitive
26. Ezﬂpfing a.loig a.{ periﬂhery sequentially meet the ground?
No: 28 :
Yen: 27
27. Is the movement self-caused!
‘No: P.O. ‘Roll’ (transitive) ; |
: : ' (intrangitive) - : '
28 Ez:ai’h: mﬂrﬂné:; oceur with the object leaving the ground, h&ﬂlﬁﬂuj’? moving
horizonially? | ,
- No: P. 0. ‘Bounge'
-Yes: 32 _ .
29. Are the objects moving apart!?
"~ No: 30
" Yes; 41

{The paychological reality ﬁerel is ‘seatter’, reached earlier)

30. Are thoy moving apart on the water?
. No: P. 0O, ‘Floek’
Yea: P, O. ‘School’
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31. Iz the ohJBct capable of propelling itself thmugh tha air for a period of time?
- No: P. 0. 'Fly’ (intransitive) _

32.
34,
| a4,
34,
Js.
3?.
.38.
39.
40,

 F

£2.

44,
44,

45,

1. :amm

Yea: P. O. ‘Bpeed” ~

Does the object rise slightly from the surface?
No: 38

Yes: P. Q. 'Skim’ -

Is the movement deliberatat

No: 47 - |

Yea: 46

Is it & group’s motion in water to be emphasized?
No: 35

Yes: P. Q. ‘School’

Is the object alive?

No: 36 ‘

Yes: P. O, ‘Swim'

Does it leave the surface penod.maily?
No: 44

Yes: P. O, ‘Skim’

Do you wish to emphagize an aapect of the motion?
No: 38

Yea: 30 '
Is the motion self.caused! .
No: P, Q. "‘Walk' (transitive)
You: P. 0. ‘Walk' (intransitive)
Is there a “military’ bearing?t

No: P. 0. ‘Stroll’

Yes: P. 0. ‘March’

Iz there a forward movement?
No: 23

‘ Yes: P. 0. ‘Craw?’

Is the movement self-caused?

No: P. O. ‘Scatter’ (transitive)

Yeas: P. O. ‘Beatter’ (intransitive) i

Do you wish to emphasize the velocity?
No: P. O, ‘Flow’

Yes: P. Q. ‘Bpeed’

. Is it gelf moving?

No: P.'O. ‘Fly’ (transitive)
Yes: P. O, ‘Fly’ (intransitive)
Is the movement self.caused?
No: P. 0. ‘S8ail’ (transitive)
Yes: P, O. ‘Sail’ (intransitive)
Is it fast? | .

No: P.O. ‘Crawl’

Yes: 31

Is the movement self.caused?
No: P. 0. ‘Slide’ {transitive)
Yea: P, O, ‘Slide’ (intransitive)
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£7. Is the movement self-caused?
No: P. 0. ‘Slip’ (transitive)
Yeu: P. O.*Slip’ {intransitive)

V. The verbe aﬁd their component meanings

The verbs are listed here, mlphabetlcaﬂy An “A” or “B” in slash marks
indicates a submeaning, and is followed by the components of each submaamng
There are as many submeanings as there are ways of reaching the form on
the flow chart. The forms ocour here, followed by & (y) and a series of numbers,

then a (n) and a series of numbers. (y) refers to “Yes” answers and the numbers -
following it to the “key” questions which were answered affirmatively. (n)

_and the numbers. following it refer to the questions which were answered

negatively. Following the numbers, two letters or more may appear. These
mark the answer t0 question number nine, the answerg to which are “on the
ground” (OQ), “in the ground” (IG), “in the air” (IA), “in or on & moving
object” (I0), and “in & llqul » (IL). If no lettera oceur, quaatmn #9 is not

| releva.nt | - ~

I.BOUNOE {y}l(n}ﬂ 3.57810 12, 21 29, 28,0(*_ N
2. COIL (intransitive): JA/ {y) 1, 12, 23 (n} 2, 3. 5,7, 8, 10, 13, 40, OG _
B} (y) 1; 21, 22, 23 (n) 2, 3, 5, 7, 8, 10, 13, 40, OG
-{}OIL {transitive}: (y) 1, 21, 22 (n) 2, 8, 8, 7, 8, 10, 12, 32, oG
CRAWL: A/ (y) 1, 2,40 (n) 2, 8, 5, 7, B, 10, 13, OG
/Bf (¥} 1, 10, 11 (n} 2, 3, 5, 7, B, 10, 13, OG
fC{ (%) 1, 5, 48
DRIFT:{v) 1,7{n) 2, 3, 6
FLOCK: (y) 1, 3, 4 (u) 2, 29, 30 |
.FLOW: (y) ,,2(n} 42 . .
FLY (intrensitive): A/ () 1, 5 (n) 2, 3, 81, 45
/Bf (y) 1, 43 (n) 2, 3,6,7,8 1A
¢. FLY [tranmtwa} () 1(n} 2, 3,5,1,8, 43, IA
10. GLIDE: (y) 1 (n} 2, 3, 5, 7
11. HOP: (3) 1, 10, 14, 17 (n) 2, 3, 5, 7, 8, L1, 18, 18, OG

M

e o

.12, JUMP: (y) 1, 10, 14, 15 (n) 2, 8, 5, 7, 8, 11, OG

13, MARCH: () 1, 10, 87,39 (n) 2, 3, 5, 7, 8, 11, 14, OG

14, MOVE (intransitive): (y) 1,.3, 6 (n) 2, 4

18. MOVE (transitive): (y) I, 3 (n) 2, 4, 6

i6. RIDE: (y) 1 (n} &, 8, 5, 7. 8, 10 :

17. ROLL: (intransitive}: (s 1, 26, 27 () 2, 3, 5, 7, 8, 10, 12, 21, OG

18, ROLL: (transitive): (y) 1, 26 (n) 2, 3, 5, §, 8, 10, 12, 21, 27, OG

19. RUN (intransitive): /A/ (y) k, 10, 14, 16, 18 (n} 2, 3, 5,7, 8, 11,15, 19, OG
/Bf {y) 1, 10, 14, 18, 20 (n) 2, 3, 6, 7, 8, 11, 15, 18, OG

20, RUN (transitive): (y) 1, 10, 14, 18 (v) 2, 8, 5, 7, 8, 11, 15, 18, OG

21. SAIL {(intransitive): (y) 1, 44 (n) 2, 3, §, 7, 8, 34, 35, 36

22. SATL (transitive): {y) 1 (n) 2, 3, 5, 7, 8, 34, 35, 36, 44

23. BSCATTER (intransitive): (y) 1. 3, 4, 38 (n) 2

24. SCATTER (transitive): (y) 1, 3, 4, 20 (n) 2, 41
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_25. BCHOOL: jA/ (v} 1, 8, 4, 30 (n) 2, 20
/Bl (y) 1, 34 (n) 2, 3, 5,7, 8, IL
26. BKIM: /Af (v} 1,28,32() 2, 8,85, 7, 8, 12, 21, 26, OG
/Bf (¥} 1,38 (n) 2, 3, 5, 7, 8, 34, 35, IL

27. BKIP: (y) 1,10, 14 (n) 2, 3, 5, 7, 8, 11, 15, 18, 17, OG

28. SLIDE (intransitive): {y) 1, 28, 33 (n) 2, 3, 5, 7, 8, 12, 31, 26, 46, OG
29. BLIDE (transitive): (y} 1, 28, 33, 46 (n} 2, 3, 5, 7, 8 12, 21, 28, OG
30. SLIP (intransitive): (y} 1, 28 (n) 2, 3, 5, 7, 8, 12, 21, 26, 33, 47, OG
31, BLIP (transitive): (y) 1, 28, 47 (n) 2, 3, 5, 7, 8, 12, 21, 2¢, 33, OG
32. SNAKE: (y) 1, 21, 13 (n) 2, 3, 5, 7, 8, 10, OG .
38. SPEED: jA/ (v} 1, 2, 42 »
_ /B {y) 1, 5, 45, 31 (n} 2, 3

34. SPIN (intransitive): {y) 1, 21, 24, 25 {n) 2, 8, 5, 7, 8, 10, 12, 22, OG
35. SPIN (transitive): (y) 1, 21, 24 (n) 2, 3, 5, 7, 8, 10, 12, 22, 25, OG
36. SQUIRM: (y) 1, 21 (n) 2, 8, 5, 7, 8, 10, 12, 22, 24, OG
37. BTROLL: (y) 1, 10, 37 (n) 2, 3, 5, 7, 8, 11, 14, 89, OG
38. BWIM: (y) 1, 35 (n) 2, 7, 8, 34, 35, TL. i
39, TROT: (y} 1, 10, 14, 18, 18, 10 (n) 2, 8, 5, 7, 8, 11, 15, OG

40. TUNNEL: {y} 1 (n} 2, 8, 5, 7, 8, IG _
41, WALK (intransitive): (y) 1, 10, 88 (n) 2, 3, &, 7, 8, 11, 14, 37, OG
42. WALK (transitive): (¥} I, 10 (n) 2, 3, 5, 7, 8, 11, 14, 37, 38, OG

| From the foregoing chart, it is possible to work out the components of -
each verb, by using the correct regponses in each case. For example:

FLOW: (y) 1, 2 (n) 42
Q! Doea the object exhibit motion? Yes Go to Q2
Q2 Is the object in question & masa noun? Yes Go to Q42
Q42 Do you wish to emphagize the veloscity? No P.0. FLOW

In this case the components of FLOW are: “A mase noun moves along
without reference to its velocity”.

- REFERENCES

* Hoijer, H. 1964. “Cultural implications of gome Navajo lingunistic categories”. In Hymes,
D. {ed.}). 1964. 142—161. '

Hymes, D. (ed.). 1964, Language ¢n culture and society. New York: Harper and Row.

Jakobson, R., Fant, C. G. M. and M. Halle. 1951, Prelimingries to speech analysis. The
distinciive features and their correlates. Cambridge, Mass. ; The MIT Pross.



. 4 Y
DELETY 2
¥ 1 :
3 ¥ 29 h - 30 -
n g : v/ y N '
5 4 41 FLOCK
y f It VN SCHOOL
42 45 LT SCATTER  SCATTER
1 v vV R 7 1 i {tr.} {intr.}
3 DRIFT n v
v 1L MOVE MOVE
FLOW SPEED i) (intr.)
8
1 ¥ Y
_ ~ GLIDE
FLY (intr)y 43 e () e RIDE :
. LY A >
d SWIM
FLYJ' a "- -
(tr) SALL (intr)
h L]
TUNNEL n v 12 n SAIL (tr)
v 2] n 26 n 28 v
1] 13 nx
n v '
1 ¥ 40 NNAKE X BOUNCE
Y n SLIP (intr.)
14 v SLIP (tr.)
y n CRAWL ROLL (tr)  SROLL (inty)
37 22 \
I \g ¥ I SLIDE (tr) SLIDE (intr)
39 ;28 24 n _SOUIRM |
¥y LY i % ; i
n MARCH COIL COIT, 25
STROLL (it ry (o) 1 ¥ SPIN (intr)
SIPIN ey :
38
WALK v n WALK (tr)
{intr)
| t 16 v 18 vy 19 v TROT
b/ L 3 __Tn\ i
JUMP 17 y HOP RUN (intt]

& BRI

RUN {tr)



	Beatty_0001.JPG
	Beatty_0002.JPG
	Beatty_0003.JPG
	Beatty_0004.JPG
	Beatty_0005.JPG
	Beatty_0006.JPG
	Beatty_0007.JPG
	Beatty_0008.JPG
	Beatty_0009.JPG
	Beatty_0010.JPG

